

Tel. No. (632) 727-3801 to 17 Fax No. (632) 721-4502 Email: info@ics.com.ph Web: www.ics.com.ph

Date: 04/15/2019

Ref.No: 93459

ATTN : MR. Jojit. Silvestre

MANILA BANKERS LIFE INSURANCE CORP.

GENTLEMEN: We are pleased to submit for your kind consideration and approval our quotation for the following items.

QTY	Description	Unit Price	Total
1	DELL INSPIRON 3481 (BLACK/SILVER)	25,700.00	25,700.00
	14"/ INTEL CORE I3-7020U PROCESSOR /4GB DDR4 2666MHZ		
	(2133MHZ ACH) /1TB 5400 RPM SATA HARD DRIVE / INTEL(R)		
	HD GRAPHICS 620 WITH SHARED GRAPHICS MEMORY / WIN 10		
	HOME SL/1-1-1 WARRANTY		
1	FQC-08929	8,500.00	8,500.00
	WIN PRO 10 64BIT ENG INTL 1PK DSP OEI DVD		-,
		Total PHP	34,200.00
	Price Valid Until:		,
	April 26, 2019		
	Availability:		
	1 to 2 weeks (With Limited Stocks)		
	Terms Of Payment:		
	30 days		
	Warranty:		
	1 year		
	NOTES:		
	1. Above quoted prices are subject to change in the event		
	of changes in prevailing exchange rate, market conditions,		
	duties, taxes and all other important changes.		

The above quotation is subject to the terms and conditions of sale printed on the last page. Unless advised of any modification within fifteen(15) days from the date this agreement is signed by the Customer, is received by ICSI, the Customer may consider this agreement to have been accepted by ICSI as written with the date received by ICSI as the effective date.

		The state of the s	
Terms	and	conditions	accepted:

Customer Name and Signature	
Date	

Very Truly Yours,

INTEGRATED COMPUTER SYSTEMS.INC.



GERLIE JANE MEDALLE-TANGPUZ

FIRE SAFETY FIRE ESTINGUISHER

#Sapphire St. Merry Homes Subd. II-B Caloocan City

Date: January 16, 2020

To: Manila Bankers Life
Jojit Silvestre

Greetings from Renz Trading:

Renz Trading, are Pleased to offer your good office our product (FIRE EXTINGUISHER)

TYPE/POUNDS	REFILL	Validity/Expiration
ABC/10lbs/Red	650.00	1 Year
ABC/10lbs/Red	1,000.00	2 Years
HCFC 123/Green	450.00/ lbs	5 Years
AFFF/10lbs/Blue	650.00	1 Year
AFFF/10lbs/Blue	1,000.00	2 Years

Hoping for our fruitful partnership Thank You Very Much Mabuhay po Kayo

JESS CRUZ SALES REPRESENTATIVE 09567947878



QUOTATION ID :

QUOTATION

000-0095-19 18-Nov-19

FROM:

KHOMI INC.

Blk 6,Lot 2 & 4, Jordan Plains Subd., Don Mariano Marcos Ave.,

Navaliches Quezon City
Tel No.: 419-6524 / 417-4081 /
Mobile No.: 09985707814 / 09985707813
khomi.furnitureshop@gmail.com

TO:

Company Name: Manila Bankers Life Insurance Corp. Contact Person: Mr. Jojit

Contact Number: (632) 810-1072 local: 202

Address: GP Center (formerly TMBC Building), [6772 Ayala Avenue, | Makati City,
Philippines 1226

We are pleased to quote you the following:

ITEM CODE	DESCRIPTION	QUANTITY	UNIT PRICE		LINE TOTAL
Sont W	NX3540 W/ armrest & gaslift Mesh chair Chrome legs Black	7	3,600.00	3,600.00	25,200.00
CO MICHARIC	MOBILE PEDESTAL CABINET - FLUSH HANDLE 40Wx56Dx65Hcm 3 drawer steel cabinet with pendi tray and file divider central locking system, caster gauge 20 LIGHT GRAY - Php 3,100	6	3,100.00	3.100.00	18,600.00

 Sub Total:
 43,800.00

 Delivery Charge:
 1,000.00

 Installation Charge:
 44,800.00

TERMS & CONDITIONS

- 1. Terms Of Payment: 50% Down payment & 50% on or before delivery date (before installation)
- 2. Mode Of Payment: DATED CHEQUE or CASH
- 3. Price/s quoted are subject to change without prior natice.

Above prices are for the above quantity only.

Price validity: 15 days subject to confirmation thereafter.

4. Actual colors may vary. Please bear in mind that photo may slightly different from actual item in terms of color due to the lightling during photo shooting or the monitor's display.

S. Delivery : FOR CUSTOMIZE ITEMS - 10-15 working days upon receipt of P.O & Down payment.

FOR READY-MADE ITEMS- 5-7 working days upon receipt of P.O. & Down payment.

FOR INDENT ORDERS- 30-45 working days upon receipt of P.O & Down payment.

E: ##Hease take note: Many of our products are made-to-order items* that are manufactured individually according to the customer's requests for size, color and shape. Cancellation or modification later than 3 hours on the day after the order confirmation is transmitted will be subject to a cancellation change of 50%. To deliver the desired products for standard delivery leadtime, we start to produce on the day of customer's order confirmation.

5. Warranty: One year service warranty for normal defects. Missing parts or broken parts are automatically void warranty.

7. Important : All checks should be payable to KHOMI INC.

NOTE : UNLESS PAID, ALL ITEMS REMAIN PROPERTY OF KHOMI INC.

Should this proposal merit your approval, please indicate your acceptance to it by signing the Customer's Acceptance space provided below.

This quotation once approved will serve as contract.

Prepared By:	
	Customer's Acceptance (Sign Below)
REGINE ENRICO	Print Name:
Sales Executive	Signature:
	Date:

Office Furniture System / Office Partition Chairs / Tables / Cabinets / Storage System / Renovation / Carpets / Blinds / Wood Veener / Vinyl

Tel Nos.: 398-4655 / 875-7259 / 985-6796 / 0916-6084468 101 J.P. Rizal St., Sta. Lucia, Novaliches, Quezon City

November 18, 2019

QUOTATION CONTRACT

To: Mr. Jojit Silvestre

Company Name: Manila Bankers Life Insurance Corporation

Company Address: 11/F VGP Center, 6772 Ayala Avenue, Makati City

Telephone Nos: 8810-1072 or 8810-1040

Dear Sir,

We are pleased to submit to you	u our best price offer for your consideration	n. Thank you v	ery much for your inter	est in our products.
	Code: SF-3540 Clerical mesh chair With arm rest, Chrome legs Color: Black	8	2,678.58	21,428.64
	Regular Price: P3,500			
	Discounted Price: P3,000			
B	Code: YS-65 3-Drawer Mobile Cabinet with Pencil Tray Regular Handle Color: Light Gray	6	2,500.00	15,000.00
	Regular Price: P3,400			
	Discounted Price: P2,500			
	Code: JIT-EFL4 4-Layer lateral cabinet, powder coated, recessed handle, Color: Beige Gauge 22 Dimension: 90W x 45D x 133H (cm.)	5	11,200.00	56,000.00
	Regular Price: P14,500			
	Discounted Price: P11,200			
	Code: JIT-EFL2 2-Layer lateral cabinet, powder coated, recessed handle, Color: Beige Gauge 22	2	10,500.00	21,000.00
	Regular Price: P11,900			
1,	Discounted Price: P10,500			

Total, VAT Exclusive

113,428.64

VAT - 12%

13,611.44

Delivery Charge

Free Delivery

GRAND TOTAL (Vat Inclusive)

127,040.08

TERMS & CONDITIONS

Terms of Payment:

50% downpayment; balance upon completion or turn-over of furniture.

Price Validity:

Within 30 days, subject to confirmation thereafter

July 10, 2019



Attn : Mr.	Jojit Silvestre					
Dear Sir:						
Thank you ve reference.	ery much for giving us the opportu	unity to quote for	your requiremen	nts. Below is the p	rice for your	
Description		Qty	Amount	Total	Availability	
Apple iPad 6 MRJN2PP/A	oth Gen Wi-Fi 32GB - Gold	67 units	P20,800.00	P1,393,600.00	limited stock	
Terms and O Delivery Terms Warranty Validity NOTE	Conditions: : If available 3-5 days upon rece : 30 days : I year warranty on parts and se : Prices are valid 15 days from : VAT Inclusive.	ervices.	wise 30 to 45 da	ys if order basis.		
If you have a much and bes	ny inquiries or if you wish to orde st regards.	r please call us a	t 893-0468 / 70 t	for your convenier	nce. Thank you ve	
Prepared by; Gerald Diaz		Con	forme:			



ACHILES COMPUTERS AND CCTV

8263 Dr. Santos Ave. San Dionisio- Evacom Sucat Parañaque City (02) 7592637 / 0933 8227409 / 0917 6260821

Date:	SEPT. 23, 2019				
Company:		MANILA BANKERS			
Address:		FOR SAN PABLO BRANCH			
Attention:		Luis / Jojit			
ITEM#		DESCRIPTION	QTY	UNIT PRICE	TOTAL
1	HIKVISION DS-7608NI-Q2/8P		1	8,000.00	8,000.00
2	HIKVISION HWI-D121H		4	2,300.00	9,200.00
3	4TB Western Digital Sata C	CTV Hard Disk Purple	1	6,500.00	6,500.00
4	NOVUS 20" 20A1VD LED M	ONITOR	1	3,650.00	3,650.00
5	RJ-45 CONNECTOR		8	5.00	40.00
6					
7					
8					
9					
10					
11					
19					
20					
	N	OTE: ASSEMBLE PRICE ONLY			
		BPI BANK		TOTAL:	hp 27,390.00
ACCOUNT NAM	ME: Achiles Compu	ter and Electronics Trading			
ACCOUNT NUI	MBER: 8303 1009 12				
		BDO BANK			
ACCOUNT NAI	ME: Achiles Compu	ter and Electronics Trading			
ACCOUNT NUMBER: 010 7000 26967		1			

Authorized	by:	Amphie Co

146510032413

ACCOUNT NAME:

ACCOUNT NUMBER:

PNB

Achiles Computer and Electronics Trading



Ace Hardware Philippines, Inc. Bldg. B. SM Corporate Offices,

J.W. Diokno Blvd. Mall of Asia Complex, Pasay City 1300 Philippines

ACE Hardware Philippines, Inc. VAT-REG TIN 200-035-311-00037 Cash & Carry-Makati South Super Hi-Way cor Emilia St. Palanan, Makati City 1235 856-5815 / 844-2069 opns.ace.cashcarry-mkt@smretail.com





25MINORUNYMONE	DATE ID UNTIL	Oct 24, 2019 Oct 31, 2019	Hardware		Maria Maria Maria
			PREPARED BY		
COMF	PANY NAME	MANILA BANKER'S LIFE INSURANCE	GERALD PADUA NOTED BY		PADUA
					BY
				BETTY ROD	RIGUEZ
Item No.	SKU	Description	Qty	UNIT PRICE	TOTAL PRICE
1	38022286	FIREFLY LEDEmrgncyLmpRchrgbleTwnhead FEL201L	43	1,399.75	60,189.25
			TOTAL 60,189.2		60,189.25

Important Reminder/s:

- 1. All prices are VAT-inclusive.
- 2. Mode of payment : > Cash / Company Check
 - > Check should be payable to ACE HARDWARE PHILIPPINES, INC. and subject to 3-4 bank-clearing working days. Merchandise will be released thereafter.
 - > COD transaction not acceptable.
- 3. Req'd documents > Approved Purchase Order/s.
 for TOP CORP'TN > 3-copies SIGNED BIR2307 Cert Of Creditable Tax Withheld At Source and/or VAT Exmpt > Valid/updated PEZA / VAT Exempt Certification
 > Entity's BIR2303, Certificate Of Registration

*Transaction will not be facilitated if needed document/s is/are not complete

- 4. Period of seven (7) working days, from date upon receipt of approved purchase order by the store to facilitate preparation and delivery of confirmed merchandise. Stock s status update will be provided otherwise.
- 5. PO received by AHPI Cash & Carry indicates conformity for these conditions by the client/customer unless, clarified beforehand.
- 6. Add-on delivery charges apply based on final destination. Delivery schedule for North-Metro Manila, MWF, and TTHS for Metro Manila South

We look forward for your kind assessment and confirmation on this proposal. Please don't hesitate to let us know should there be further clarification. Thank you for choosing ACE Hardware Cash & Carry



No. 12008-PQ-071910803

Date

: December 7, 2019

To

: MANILA BANKERS LIFE INSURANCE

CORP

Attention

: CORYESMA MANAYAG

Contact No.

: 8101040

Dear Ma'am/Sir,

We are pleased to submit our best offer for your requirements of the following:

Product Image	Item Description	Quantity	Price (PhP)	VAT Inc Discounted Price	VAT Inc Total Price	
	147420 SHARP REF SJ DTH70BS SL 6.7CF	1	12,998.00	10,228.00	₱ 10,228.00	
	6.7 CU.FT. SEMI- AUTOMATIC DEFROST, UNIQUE DESIGN - WITH DUAL HANDLE FOR EASIER OPENING AND BUILT IN STAND ONE TOUCH SEMI AUTO. DEFROST - HASSLE FREE DEFROSTING, ADJUSTABLE WIRE SHELVES EASY ,BIG DOOR - LARGE CAPACITY DOOR POCKET. , EGG TRAY GOOD FOR 16 PCS. , WITH BUILD IN STAND					
			Subtotal		₱ 10,228.00	
			Total Taxable Amount		₱ 9,132.14	
			Total Tax		₱ 1,095.86	
			GRAND TOTAL		₱ 10,228.00	
		END OF QU	IOTATION			

PO Number

Mode of Payment : Check

Delivery Lead Time : 3-10 days upon receipt of PO

SAVE MONEY TRADING, INC.

4233 Laredo Street, Brgy. Palanan, Makati City

Tel. Nos.: 8843-6550; 8843-6559; 8843-9221 Fax No.: 8887-0014

PRICE QUOTATION	Date Prepared:	Ram Selda	
C U S T O M E R Name: MANILA BANKERS LIFE INSURANCE CORPORATION	Encoded by: Terms:		
Address: 11/F VGP CENTER 6772 AYALA AVE. MAKATI CITY	Payment Mode: P.O. Reference:	Cash On Delivery	
Attention: SIR. JOJIT SILVESTRE	Quotation Reference No.:	20000	

Quantity	Unit	Product Description	Unit Price	Amount
50	RM(S)	PAPER C20 PRESIDENT SHORT	143.75	7,187.50
15	RM(S)	PAPER C20 PRESIDENT LONG	169.00	2,535.00
25	RM(S)	PAPER C20 ADVANCE HARD COPY SHORT	158.00	3,950.00
3	RM(S)	PAPER C20 PRESIDENT A4	154.00	462.00
1400	PC(S)	FOLDER LOCAL WHITE LONG 14 PTS	4.00	5,600.00
100	PC(S)	FOLDER PB US UNIQUE LONG GREEN	17.00	1,700.00
250	PC(S)	ENVELOPE BROWN #150 LBS SHORT	1.50	375.00
10	PC(S)	COL NB #10 COLS	25.00	250.00
5	PC(S)	STENO NOTEBOOK VECO BLUE	25.00	125.00
32	PC(S)	BP HBW MATRIX GEL PEN OG-5 BLACK	4.50	144.00
12	PC(S)	BP HBW MATRIX GEL PEN OG-5 RED	4.50	54.00
10	BX(S)	SW JOY #35	26.00	260.00
20	BX(S)	FASTENER PRINCE	28.00	560.00
10	PCS	CORRECTION TAPE JOY J-863	17.50	175.0
10	PC(S)	HIGHLIGHTER STABILO BOSS YELLOW	27.00	270.0
1	DOZ	CLIP FOLD BACK DZ 2" 51MM	42.00	42.0
1	DOZ	CLIP FOLD BACK DZ 1"	16.00	16.0
4	DOZ	CLIP BULLDOG 3" DZ	98.00	392.0
2	PC(S)	RULER PLASTIC PRINCE 12" ORD	5.00	10.0
3	BTL(S)	PASTE REDSTONE 200GMS	30.00	90.0
10	PC(S)	DOCUMENT FILE BOX	70.00	700.0
5	PAD(S)	POST-IT NOTE 3M 1 1/2 X 2"	25.00	125.0
3	PAD(S)	POST-IT FLAG SIGN HERE 3M 680-9	122.00	366.0
1	BX(S)	CARBON PAPER CLUB SHORT BLUE	563.00	563.00
10	BX(S)	CLIP PAPER PLASTIC COLORED SMALL	9.00	90.0
2	PC(S)	STAPLER JOY #35 W/ REMOVER	105.00	210.0
1	BX(S)	CF BOND 11 X 14 7/8 2 PLY #20	1,630.35	1,630.3
24	RL(S)	TAPE SCOTCH CROCODILE 1 X 50	9.00	216.0
4	RL(S)	PACKAGING TAPE TAN 2 X 50 CROCODILE	15.00	60.0
5	PC(S)	RECORD BOOK SHINY 300PP	50.00	250.0
2	PC(S)	M. BOX CLOSE BLACK	75.00	150.0
20	SET(S)	STICKER PAPER MATTE A4 10'S	30.00	600.0

PRICE QUOTATION C U S T O M E R Name: MANILA BANKERS LIFE INSURANCE CORPORATION Address: 11/F VGP CENTER 6772 AYALA AVE. MAKATI CITY Attention: SIR. JOJIT SILVESTRE Date Prepared: Mednesday, January 29, 2020 Ram Selda Terms: 0 Payment Mode: P.O. Reference: Cash On Delivery P.O. Reference: 20000

Quantity	Unit	Product Description	Unit Price	Amount

NOTES:

TOTAL AMOUNT:

29,157.85

Prepared by:

Noted by:

JM VILLAMENA

Account Manager

E-mail Address: